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1. Answer the following questions : 1x3=3
Pt Dt
(a) Who was the original propounder of the
science of life?

STgHeed FaRITeaTTh: &:?

(b) What is the time period of Caraka?
T ferfasre: #:2
(c) How many Sthanas are there in the Caraka-

sarmhita?

YAl i S g2
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2. Refine 77T (quality) as you find in the Caraka-

samhita. 3 2
.ﬁ - . - E ﬂ |
3. Answer any three of the following : 5x3=15

STIEY JTE FAHE—

(a) Mention the names of ®fofH 5=,
iz Trm forem |

(b) Define s (matter) as you find in the
Caraka-sambhita.
THRUCAIHR ZAGHO] @17 |

(c) Discuss M and f3319 Siddhanta (generic

concomitance and variant factor) as per
your text.

sfiagraten ar-fR: Rers: Ry
(d) Mention the qualities of 9. '

AR TTGEE: F7: |

4. Explain with reference to the context any two of
the following : 10x2=20

YUY T T30 AT —
(a) Tamfed g@ gemgee fefeay
qH 9 79 FHAgas: 9 99d ||
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(b) T It AT FEREH Foud |
¥ 39 frewr J8 AT 30 TR )

(c) T IR ¥ T

BIRICE TP 99 srf%\f&aqu
5. Fill in the blanks 1x4=4
feearf aa—
(a) The computer language can be classified
into

T HTHT IR TTd |
(b) RAM stands for :
RAM FJ

(c) Three fields where computer technology is
being used are ) spand N

Wﬁzﬁﬁﬁéﬁmﬂ%ﬂﬁ%ﬂﬁ
S T |

(d) ROM stands for
ROM T
6. Answer the following questions : 2x3=6
HUET: T WA —

(a) Why is memory required in the computer?

Explain.
AT wfe: (AR 3f0) FemEmh wEfe
fa=Tam |
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(b) Give three examples of output and input
devices.

ST - PR SEREY 967 |

(c) Write a short note on mouse of the

computer.
EE- g (TR #a) TR
feoqofi femm)

7. Answer any one of the following : 10

SqIfeany vt FAdEar—

(a) Discuss the functioning of Laser printer.
megEEeE (R fRR ff)  wrwf
TS =9aT |

(b) What do you mean by computer software?

Describe three types of software and their
usages.

FYER-YEAR—3AH WA & S
FOYER-HEAR S0 AT e foe=gmam|

* k %k

20A—1500/742 3 (Sem-6) SAN M 3



